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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

State desirable property of insulator
Define sag. Write sag equation.

Explain transposition of transmission line.
Explain grid system.

State advantage of inter connected system .
Define feeder.

What is distributed generation?

State method of feeding primary distributor.
What is substation?

Function of lightning arrestor.

Explain selection of economical voltage of transmission

OR
Explain bundled conductor
State reason failure of insulator.
OR
Explain string efficiency.
Write factor affecting sag.
OR
Compare the overhead system versus underground system for transmission of
power
State and explain methods of improving string efficiency
OR

66KV 3 phase 3wire transmission line having five disc insulators in string
voltage across disc nearest line is 9KV.find string efficiency.

Explain effect of line parameters on transmission line performance.
OR
Explain skin effect.
Explain Ferranti effect.
OR
Give classification of transmission line.
Derive expression for voltage regulation and efficiency for short transmission
line.
OR
Calculate loop inductance for 2Km long single phase transmission line.
spacing between two conductor is 2 meter. Diameter of conductor is 15mm
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Explain function of load dispatch center.

OR
Draw equivalent circuit and vector diagram of medium transmission line using
nominal T method.

State type of HVDC system. Explain any one.
OR
Explain impact of renewable energy on transmission system.
Write advantages of HVDC transmission.
OR
Write advantages of FACTS.
In a two wire 1000mtr long distributor ABC the load current at point C is
100Amp at 0.8 lagging pf and load current at point B is 70 Amp at 0.9 lagging
pf. Both pf are refer to receiving end. If receiving end point C voltage 440 V.
find (1) voltage at point B and A.
(2) Total current.
(3) Sending End pf.
Loop impedance section AB is 0.1+j0.2 Q and section BC is 0.2+j0.3Q.

Give classification of substation.

Draw key diagram of 220KV/66KYV substation using double busbar system.
Explain general construction of cable.

State selection of cable size as per IS.
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